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Introduction

The IELTS Academic Writing module lasts one hour and there are two tasks. You are
advised to spend 20 minutes on Task 1 and asked to write at least 150 words. For Task 2
you are advised to spend 40 minutes and asked to write at least 250 words.

In both tasks, you are assessed on your ability to write in a style that is suitable for the
task.

Task 1

In Task 1 you are asked to describe data, presented as a graph, chart or table, or a
diagram such as a map or process, using your own words.

Assessment for Task 1 is based on your ability to:

e summarize, organize and compare data where possible

o describe the stages of a process

« describe an object or event or explain how something works
e write accurately and coherently

e use a range of vocabulary

e use a range of grammatical structures

Describing a graph

1 Work in pairs. Look at the following list of words and phrases 1-20 and the graph in
the Task 1 question on the opposite page. Decide which you can use to write about the

graph.
1 trends vary 11 overtake
2 anupward trend 12 contrasted with the steady recovery
3 hitalow 13 the dramatic decrease
4 |atter part of the period 14 peak at
5 soar 15 proportion
6 follow different patterns 16 reach a high
7 agradual fall 17 overall
8 reach a plateau 18 outnumber
9 asharpdrop 19 generally speaking
10 surpass 20 similarly
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WRITING TASK 1

You should spend about 20 minutes on this task.

The graph shows children by age group as a percentage of the population in the
United Kingdom between 1990 and 2001.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

Percentages of children aged under 20 years by age group in the United Kingdom

Percentages

21 i

1990 1991 1992 1993 1994 1995 1996 1997 1998 1999 2000 2001

04 mm om om mm 5-Qecesassene 10-14
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2 Read the following sample answer and underline the words from the list in exercise 1.

The graph shows the proportions of children in four age groups, namely O-4, 5-9,
10-14 and 15-19 in the UK between 1990 and 2001.

Gernerally speaking, despite the two contrasting trends (downwards for the children

of O-4 and 15-19; and upwards for those aged 5-9 and 10-14), the decline in the
birth rate was the most striking point. In the youngest age group, there was an increase
during the two first years from just below 26% in 1990 to about 26.6%in 1992
followed by a gradual fall to 23.6%, the lowest percentage, in 2001. Regarding the
15-19 age group, the dramatic decrease from approximately 26.3%in 1990 to just
over 235%in 1994 can be contrasted with a steady recovery over the latter part of the
period up to nearly 24.9%in 20011.

By contrast, an upward trend was noticed in the categories of children aged 5-9 and
10-14. Looking at the former group, the percentage peaked at approximately 26.3% in
1997, but the final proportion (about 25.3%) remained greater than the initial (nearly
24.6%). As regards the latter, the percentage of the children in this category not only
increased over the period but also was the greatest in 2001, approximately 26.3%.

3 Work in pairs. Turn to page 207 and answer questions 1-8.

4 Write your own answer for the task. When you have finished, check your answer using
the checklist on page 209.
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Describing a bar chart =

1 Work in pairs. Look at the Task 1 question in exercise 2 below. To help you practise
paraphrasing descriptions of data in your introduction, rewrite the following sentence
using the words in brackets or your own words.

The chart reveals the results of 2 Labour Force Survey on occupations of males and females in the
United Kingdom in 2007.

(employment in the United Kingdom/provide a breakdown by gender and occupation/ranging
from ...t0...)
2 Work in pairs. Decide which of the following three overviews for the chart in the
question below is most suitable. Give reasons.
1 As can be seen from the chart, there are more males than females in certain occupations.

2 Itis clearthat while women account for the largest proportion of workers in the lower level jobs,
men fill most of the posts in the higher managerial level and in skilled trades.

3 Overall, women have as many jobs as men at the top.

WRITING TASK 1

You should spend about 20 minutes on this task.

The chart shows the results of a Labour Force Survey in the United Kingdom in 2007.

Summarise the information by selecting and reporting the main features, and make
comparisons where necessary.

Write at least 150 words.

All in employment: by sex and occupation, 2007
United Kingdom
Percentages

Managers and senior
officials

Professional

Associate professional
and technical

Administrative and
secretarial

Skilled trades

Personal service

Sales and customer
service
i Process, plant and S Men
i machine operatives Women
{ "Elementary
’ 0 5 10 15 20

{ Such as catering assistants, bar staff and shelf fillers
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3 Work in groups. Look at the list of phrases below and decide which occupation on
the chart they can be used to describe. Write the number of the phrase next to the
occupation. Each phrase may apply to more than one occupation.

—

the only occupation ... almost equal
account for less/fewer than ...

far outstripped/exceeded

was approximately four times as many ... as ...
slightly less than ...

notas many as ...

the reverse was true

a different pattern

about a third more

considerably more men made up
almost ten times as many

almost double/almost half as many
were more than ...
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4 Write your own answer for the task. When you have finished, check your answer using
the checklist on page 209.

Describing a table

1 Work in groups. Look at the Task 1 question below and the sample answer on page 132.
The teacher asked the student not to describe certain rows and columns in the table
as there was too much information. Decide which rows and columns the student was
asked to ignore.

WRITING TASK 1

You should spend about 20 minutes on this task.

The table shows world demographic indicators for various regions of the world in 2005.

Summarise the information by selecting and reporting the main features, and make
comparisons where necessary.

Write at least 150 words.

World demographic indicators, 2005

Life expectancy at birth ‘

Population Infant Total (vears) "
Population density mortality fertility

(millions) (sq km) rate rate Males Females
Asia 3,938 124 48.6 2.47 65.8 69.4
Africa 922 30 93.2 4.98 50.3 52.8
Europe 731 32 8.8 1.41 69.6 78.0
Latin America & Caribbean 558 27 254 2.52 68.8 75.3
North America 322 15 6.7 1.99 749 80.3
Oceania © 33 4 28.6 237 71.6 773

\
World 6,515 48 53.9 2.65 63.9 68.3
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The table compare various population markers in various areas, namely Europe, Latin
America and the Caribbean, North America and Oceania, to the world features in 2005.

On the whole, Europe, despite having the lowest total fertility rate per 1,000 live births
(1.41), was the most populated area among those studied. The features shows that
731 million people (about 11% of the world population) were living in Europe in 2005
with a life expectant at birth standing at 69.6 years for men and 78.0 years for
women, above the world average of 63.9 for men and 68.3 for women. By contrast, Latin
America and the Caribbean, with a higher total fertility rate of 2.52, was second on the
table as regard the size of the population (558 million). Feople’s life expectancy (68.8
years for males and 75.3 years for women) was lower than that in Europe, but higher
than the international average.

Turning North America where the life expectancy at birth was the highest on the table
with females likely to live longer than males (80.2 years as against 74.9), the total
fertility rate was 1.99, while the population stoods at 322 million. About only 0.5%
of the world population (33 million) lived in Oceania, where the fertility rate of 2.37
surpassed the other regions except North American and the Caribbean, but was less
than the world average of 2.65. Likewise, life expectancy exceeded the world average
(71.6years against 63.9 years for men and 77.3 years against 68.3 years for
women).

Find seven mistakes in the sample answer.

Work in pairs. Read the sample answer again and find synonyms for the words and
phrases below.

1 being 5 came second

2 of the countries analyzed 6 outstripped

3 while it had 7 which had a greater total fertility rate of
4 regarding

Write your own answer for the task. Use the overview in the sample answer as a guide.
When you have finished, check your answer using the checklist on page 209.

Describing a process

1

132

Work in groups. Look at the Task 1 question on the opposite page and answer questions
1-10 below.
1 Where can you start the description: at the cold water feed or the solar panel?
Do the four orange arrows represent heat or the sun'’s rays?
How does the cold water begin to move through the system?

What happens when the cold water passes through the solar collector? How do you
know from the diagram?

What does the Controller do?
What happens to the water after it passes through the solar collector?
Does the hot water in the tank also heat the boiler which supplies the heating?
Does the same water go round inside the pipes from the boiler and the pipes that go
through the solar collector or are they two separate systems?
9 Is the water that comes out through the taps the same as the water that flows through the
boiler system?
10 Does the pipe heated by the solar collector work like heating elements in an electric
kettle?
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WRITING TASK 1

You should spend about 20 minutes on this task.

The diagram illustrates how solar energy is used to provide hot water for domestic use.

Summarise the information by selecting and reporting the main features, and make
comparisons where necessary.

Write at least 150 words.

Solar thermal collector

B
g
N4

‘ Hot water

Controller To taps

SL]

Boiler

Cold water T

Tank for central heating
and hot water

Cold water

2 Make a list of verbs that you can use to describe the process.

heat up

3 Make a list of linking devices you can use when you are describing the process.
first

4 Complete the introduction below.

The diagram shows how

5 Complete the overview below.
The involves a series of from
to

6 Write your own answer for the task. When you have finished, check your answer using
the checklist on page 209.
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Describing a map

1 Work in groups. Look at the Task 1 question below. Describe the differences between
the two maps using the verbs and nouns below to help you.

Verbs:

turned into

had been replaced
took place

were demolished
became

Nouns:
relocation
development
changes
expansion
construction
conversion
urbanization

WRITING TASK 1

You should spend about 20 minutes on this task.

The maps show the transformation of the village of Eastminster over a ten year period.

Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.

1999 Eastminster

ardens

Railway station
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2009 Eastminster

Railway station
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2 Complete the model text below using the verbs and nouns in exercise 1.

The maps show the 1 that 2 in the town of Eastminster between
the years 1999 and 2009.

It is clear that Eastminster 3 more urbanized with less open spaces over

the decade. North of the river, which divides the town, the woodland in the northwest

was 4 an adventure park. Moreover, by 2009 the large house with gardens 5
with a hotel and a golf course. More houses were also built encroaching on the

park in the northeast. The other main 6 north of the river was the

7 of the school from the south bank of the river.

The area south of the river experienced greater & . Tothe east, the streets
of houses 9 to make way for blocks of flats. By 2009, where a public garden
stood south of the old streets of houses, there were more houses. Further developments
that occurred were the 10 of factories and warehouses along the railway line
together with the 11 of the school on the river into a new shopping complex.
The final transformation was the 12 of the hospital west of the old school
situated on the river.

3 Write your own answer for the task. When you have finished, check your answer using
the checklist on page 209.
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Task 2

In Task 2 you are given a point of view, argument or problem.

Assessment for Task 2 is based on your ability to:

¢ present and support your opinion

» compare and contrast evidence and opinions

¢ write a solution to a problem

o evaluate and challenge ideas, evidence or arguments
e write in an appropriate style

The instructions in the questions follow these patterns:
Discuss the advantages and disadvantages of ...
Discuss both these views and give your own opinion.
To what extent do you agree or disagree?

Or you may be asked a specific question such as:
Which do you consider to be the major influence?
What do you think are the causes of this problem, and what solutions can you suggest?

o Work in groups. Discuss the Task 2 question below.

WRITING TASK 2

You should spend about 40 minutes on this task.

Write about the following topic:

Some people think it is better to give donations to local charitable organizations,
while others choose to give to national or international bodies.

Discuss both views and give your own opinion.

Give reasons for your answer and include any relevant examples from your own
knowledge and experience.

Write at least 250 words.

Classify the ideas below according to the two sides of the argument. Note that some
ideas will fit on both sides. Add your own ideas and opinions. Then explain one or more
of the ideas giving reasons and examples, purposes and results and expressing any
doubts or reservations.

charity begins at home

help needed in own country
poverty relative

money often badly spent

people more needy elsewhere
international administration costs
difficulty tracking expenditure
people weary of appeals

depends on the charity

people’s aims

want to help specific areas/ ‘pet projects
see value

can see the results l

a5 B 5 8 5/ 5 H

makes them feel good
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3 Work in groups. Choose one of the following Task 2 questions and brainstorm ideas.
Then compare your ideas with a group that has chosen the same task and select the
three best ideas.

WRITING TASK 2
You should spend about 40 minutes on this task.

Write about the following topic:

Employers should ensure that there are equal numbers of males and females in managerial
posts in companies. E

To what extent do you agree or disagree?

Give reasons for your answer and include any relevant examples from your own
knowledge and experience.

Write at least 250 words.

WRITING TASK 2
You should spend about 40 minutes on this task.

Write about the following topic:

In some families there is more than one television in the home, with each family member
even having their own TV.

Discuss the advantages and disadvantages of having more than one TV set per home.

Give reasons for your answer and include any relevant examples from your own
knowledge and experience.

> Write at least 250 words.

3

. WRITING TASK 2
] You should spend about 40 minutes on this task.
{ Write about the following topic:

Research has shown that technology is having more influence on people’s lifestyles
than any other factors in our lives.

What do you consider to be the major influence?

Give reasons for your answer and include any relevant examples from your own
knowledge and experience.

Write at least 250 words.
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4  Work in pairs. Add punctuation, including capital letters, to the first two paragraphs of
the sample answer below.

nowadays there are demands on both parents to work and look after their children at
the same time for this reason | think that children should be sent to school early but
during the first years priority should be given to play rather than to formal study

Play is crucial because it develops childrens coordination communication and social
interaction skills for example if children are throwing a ball to each other the physical
and mental skills required are sophisticated as eye to hand coordination is involved
furthermore children develop a sense of communication and socialize with each other
the mental and physical development brought about by these games must also be taken
into account and what is more while playing children compete with each other and learn
to lose which is as essential as learning to succeed in life children fully engaged in play
activities from an early age under their parents supervision gain various skills that they
will need in their adulthood.

However, in modern society both parents need to work in order to afford the increasing
cost of living, and to ensure a bright future for their families. Therefore, they no longer
have enough time to dedicate to their children and are forced to send them to school
earlier than before. Instead of starting to teach these young children to write, schools
should focus more on play to compensate for the lack of play experience they may

miss at home. Teachers in nursery and reception classes, and even in the first years of
primary school, should take on the role of parents by supervising play activities . They
can then gradually insert some educative games into the curriculum in order to prepare
children for formal teaching.

In conclusion, despite various social and financial pressures that modern society

exerts on parents forcing them to send their children to school earlier, play cannot be
neglected. The traditional role of parents should be played by teachers in the early years,
and steps taken to ensure that all children participate in play to gain the precious skills
that they will need for their adulthood.
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5 Read the rest of the sample answer. Decide which of the following two questions it
answers.

1 Some people think that children should be encouraged to play in the early years rather
than being sent to school.

To what extent do you agree or disagree?
2 Formal education is essential if children are to be prepared for the modern world.

To what extent do you agree or disagree?

6 For 1-7 below, write a number next to the relevant part of the sample answer.

)

The writer’s opinion
Reasons
A complex sentence with a condition and an example

A contrast

2

3

4 Additional information
5

6 A purpose

7

Recommendations

7 Write your own answer for the Task 2 question below. When you have finished, use the
checklist on page 209 to check your answer.

| = Develop your ideas by giving reasons, examples, results etc.

WRITING TASK 2
You should spend about 40 minutes on this task.

Write about the following topic.

Some people think that health care is a basic human necessity that should not be
provided by the private companies, but should be provided by the state.

Discuss the advantages and disadvantages of health care being provided by the
private sector.

Give reasons for your answers and include any relevant examples from your own
knowledge and experience.

Write at least 250 words.
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